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200 Questions

Que. 1 Direction: Study the following information carefully and answer the question given below.
A certain number of people are sitting in a row facing north. B sits third from the left end of the row. N

sits at the extreme right end of the row. There are not more than 10 people between L and N. P is an immediate
neighbour of L. There are as many people to the left of O as there are to the right of O. L is an immediate
neighbour of B. There are 7 people between L and G.  Q sits at the immediate left of C.  Q is not sitting at the left
of G. There is only one person between F and G. Also, there is only one person between A and F. A is sitting at
the left of O. There are not more than 14 people in the row.

Who is sitting third to the right of O?

Correct Option - 4

Q1.
N2.
C3.
G4.
Cannot be determined5.

Que. 2 Who sits between C and N?

Correct Option - 5

G1.
O2.
A3.
F4.
No one5.

Que. 3 How many persons sitting in a row?

Correct Option - 2

121.
132.
143.
154.
165.

Que. 4 Who among the following person sits sixth to the right of A?

O1.
F2.
G3.



Correct Option - 5

Q4.
C5.

Que. 5 How many persons are sitting between P and F?

Correct Option - 2

Five1.
Six2.
Seven3.
Eight4.
Nine5.

Que. 6 Directions: Study the information given below carefully and answer the questions that follow.
Eight people A, B, C, D, E, F, G and H belong to eight different countries namely Australia, Austria,

Japan, France, Belgium, Russia, Canada and Sweden but not necessarily in the same order. 
Neither A nor D is from Russia. C and F is from Canada and Austria respectively. G and E neither belong to
Belgium nor Russia. H either belong to Russia or Japan. A does not belong to France. B belongs to Australia. D
belongs to either France or Sweden. G neither belong to Japan nor Sweden. 
D belongs to which of the following country? 

Correct Option - 3

Japan1.
France2.
Sweden3.
Belgium 4.
Cannot be determined5.

Que. 7 Who among the following belongs to France?

Correct Option - 4

D1.
E2.
A3.
G4.
None of the above option5.

Que. 8 Which among the following combination is correct?

H - Japan1.
D - Russia2.
E- Japan3.
B - Austria4.



Correct Option - 3

F - Australia 5.

Que. 9 Who among the following belongs to Belgium?

Correct Option - 1

A1.
D2.
E3.
F4.
Either A or D5.

Que. 10 Which among the following is true about the arrangement? 

Correct Option - 5

D belongs to Belgium1.
A belongs to Sweden2.
B belongs to Austria3.
H belongs to Japan4.
None of the above option is true5.

Que. 11 Directions: In the following question assuming the given statements to be true, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements: N ≥ U > W; F < H ≤ S; G = N; W ≥ S;   
Conclusions:
I. H ≤ W
II. U ≥ F
III. S < G 

Correct Option - 5

Only II is true1.
Only III is true2.
Either I or II is true3.
Both II and III are true4.
Both I and III are true5.

Que. 12 Statements: J < K < P; D ≥ Y ≥ T; T = K; Q = J   
Conclusions:

I. Q ≤ D
II. P > Q
III. D ≤ P 



Correct Option - 2

Only I is true1.
Only II is true2.
Both II and III are true3.
Either I or III is true4.
Both I and III are true5.

Que. 13 Statements: V > R ≥ Q; C = B; X ≤ P < B; R > C;  
Conclusions:

I. R > X
II. X < C
III. B ≥ Q 

Correct Option - 3

Only II is true1.
Only III is true2.
Both I and II are true3.
Both II and III are true4.
Both I and III are true5.

Que. 14 Direction: The following question consists of two statements numbered I, II and III. Decide if data
given in the statements are sufficient to answer the questions below.

There are five people P, Q, R, S and T. Q is the second tallest and S is immediate taller than the shortest. Who
among them is in the middle when they stand in the order of their heights?
Statements:
I. T is not the shortest.
II. R is taller than S but shorter than Q.
III. P ranks third in height just above S when all are arranged in increasing order of height.

Correct Option - 2

Only I and II are sufficient1.
Either II or III alone is sufficient2.
Only II is sufficient3.
Only II and III are sufficient4.
Question cannot be answered even with the information in all three statements.5.

Que. 15 Direction: In each of the questions below consists of a question and two statements numbered I and II
given below it. You have to decide whether the data provided in the statements are sufficient to answer

the question. Read both the statements and answers.
Six students K, L, M, N, O and P are sitting in a straight line facing in north direction and K and N are
neighbours. Who is sitting second to the right of P?
I. M who is sitting immediate left of P is third from one of the ends. Only two persons are sitting between N and
O who is sitting near M.



II. Only three persons are sitting between K and O who is sitting immediately left of L. only two persons are
sitting between P and L.

Correct Option - 3

If the data in statement I alone is sufficient to answer the question, while the data in statement II alone is
not sufficient to answer the question.

1.

If the data in statement II alone is sufficient to answer the question, while the data in statement I alone is
not sufficient to answer the question.

2.

If the data either in statement I alone or in statement II alone is sufficient to answer the question.3.
If the data in both statements I and II together are not sufficient to answer the question.4.
If the data in both statements I and II together are necessary to answer the question.5.

Que. 16 Direction: The question below consists of a question and two statements numbered I and II given
below it. You have to decide whether the data provided in the statements are sufficient to answer the

question. Read both the statements and give answer.
What is the floor number of C in the 5 storey building?

Statement I: A’s floor, which is adjacent to C, is exactly below E’s floor which is fifth floor.

Statement II: C’s floor is exactly above F’s floor, whose floor is exactly above B’s floor which is first.

Correct Option - 5

Data given in both the statements is necessary to answer the question1.
Data given in the given statememnt I is sufficient to answer the question2.
Data given in statement I and statement II together is not sufficient to answer the question3.
Data given in statement II alone is sufficient to answer the question4.
Data given in either statement I or statement II alone is sufficient to answer the question5.

Que. 17 Six people Govind, Amar, Kirti, Pooja, Ankita and Krishna are standing in a circle facing towards the
centre. Who is standing two places away from the left of Pooja?

I. Only one person is standing between Amar and Krishna who is the neighbor of Kirti.
II. Pooja is standing immediate right of Govind

Correct Option - 4

If the data in statement I alone is sufficient to answer the question, while the data in statement II alone is
not sufficient to answer the question.

1.

If the data in statement II alone is sufficient to answer the question, while the data in statement I alone is
not sufficient to answer the question.

2.

If the data either in statement I alone or in statement II alone is sufficient to answer the question.3.
If the data in both statements I and II together are not sufficient to answer the question.4.
If the data in both statements I and II together are necessary to answer the question.5.

Que. 18 Direction: In the following questions, a given question is followed by information in two statements.
You have to decide the data in which statement(s) is sufficient to answer the question and mark your

answer accordingly.



What will be the code of ‘pass’?
I) The code of ‘Pass Fail water’ is ‘Ki Va Da’
II) The code of ‘Sky Pass Film’ is ‘Ha Ki Ta’

Correct Option - 5

If the data in statement I alone are Sufficient to answer the question while the data in statement II alone
are not sufficient to answer the question.

1.

If the data in statement II alone are sufficient to answer the question while the data in statement I alone
are not sufficient to answer the question

2.

If the data is statement I alone or statement II alone are sufficient to answer the question3.
If the data is statement I and II together are not sufficient to answer the question4.
If the data is both statement I and II together are necessary to answer the question5.

Que. 19 Directions: Study the following information carefully to answer the given questions:
There are eight people A, B, C, D, E, F, G and H are sitting around a circular table. All of them are

facing towards center. They all are of different age viz. 3, 7, 10, 14, 17, 19, 21 and 24 years but not necessarily in
the same order.
The one whose age is 10 year sits third to the left of one whose age is  19 year. The age of C is not 17 year. Only
one person sit between who is 17 year old and who is 19 year old. D is an immediate neighbor of the one who is
7 year old but his age is not a prime number. Only one person sits between E and H. E is older than H but not
oldest. The one who is 7 year old is second to the left of the one who is 10 year old. B is of 21 year old and sits
immediate to the right of G, who is youngest among them. Two person sits between G and C, whose age is a
prime number. Age of A is twice of the age of C and he sits opposite to F. 

What is the age of D?

Correct Option - 3

10 years1.
14 t years2.
24 years3.
21 years4.
None of these5.

Que. 20 Who among the following sits second to the left of E?

Correct Option - 5

The person whose age is 14. 1.
The person whose age is 3. 2.
G3.
H4.
Both 2) and 3)5.

Que. 21 How many people sit between B and C when counted in anticlockwise direction?

One1.



Correct Option - 3

Two2.
Three3.
Four4.
Five5.

Que. 22 Which of the following statement is true regarding given arrangement? 

Correct Option - 4

F sits opposite to H1.
E sits second to the left of G2.
Only two person sit between the one whose age in 19 and D3.
C sits second to the left of F4.
All are true5.

Que. 23 What is the position of H with respect to D?

Correct Option - 2

Second to the right1.
Second to the left2.
Immediate to the right3.
Immediate to the left4.
Third to the right5.

Que. 24 Direction: Study the following information carefully and answer the question given below.
In a family of 7 members, Q is the mother of S who is the maternal uncle of E. P is the only niece of S.

J is the father-in-law of A and grandfather of P. B is the mother of E and P.

How is A related to S?

Correct Option - 3

Father1.
Brother2.
Brother-in-law3.
Grandfather4.
Uncle5.

Que. 25 How many male members in the family?

One1.
Two2.
Three3.



Correct Option - 4

Four4.
Five5.

Que. 26 Who is the daughter of J?

Correct Option - 3

Q1.
A2.
B3.
P4.
None of these5.

Que. 27 Direction: Study the following information carefully and answer the question given below.
8 people A, B, C, D, E, F, G, and H had different birth years, namely, 1951, 1968, 1972, 1988, 1993,

1999, 2001, and 2009 but not necessarily in the same order. All the age calculations are done taking the base year
as 2020.
The sum of the ages of D and E is the square of the age of H. F was born in a leap year but not in the year 1988.
Not more than 3 people were born in the years between the birth years of C and F. D is the eldest of all. The age,
as well as the year in which C was born, were odd numbers. The difference between the ages of E and F is 4. The
ages of A and B are multiples of 3. 

Who was born in the year 1993?

Correct Option - 5

C1.
G2.
A3.
B4.
Cannot be determined5.

Que. 28 What is the sum of the ages of C and G?

Correct Option - 3

791.
402.
513.
694.
305.

Que. 29 How many people were born between C and F?

None1.



Correct Option - 4

One2.
Two3.
Three4.
Four5.

Que. 30 Four of the five are alike in a certain way and thus form a group. Find the one that does not belong to
the group.

Correct Option - 2

D1.
E2.
B3.
H4.
C5.

Que. 31 Which of the following is the birth year of H?

Correct Option - 3

19881.
20012.
20093.
19724.
19685.

Que. 32 Directions: Study the information given below carefully and answer the questions that follow.
Aysha and Ben are two friends they start walking from Point P. Aysha starts walking from Point P in

East direction and after walking 10 m she reaches to Point Q now she turns right and walks 15 m to reach Point
R. From here she turns left and walks 5 m to reach S. Now she turns right and walks 5 m to reach Point T and
finally she again turns right and walk 20 m to reach her final destination A. 
Ben Starts from P and walks 15 m in the west direction to reach point M. From here he turns right and walks 10
m to reach Point N. Now he turns right again and walks 10 m to reach his final destination. 

Four are same in a certain way and thus make a group. Which among the following is odd one out. 

Correct Option - 4

R - P1.
S - Q2.
S- M3.
A - T4.
T - N5.

Find the distance between Ben's Final destination and Aysha's final destination?



Que. 33

Correct Option - 4

20 m1.
15 m2.
25 m3.
30 m4.
10 m5.

Que. 34 Direction: Read the following information carefully and answer the given question. 
There are seven persons - A, B, C, D, E, F and G. They have different weights. The weight of

third heaviest person is 331 lbs and the weight of second lightest person is 189 lbs. Only Three persons have
more weight than D. E is heavier than both F and G but F is not lightest. G is heavier than F. A is heavier than C
but lighter than E. B is not lighter than G but he is lighter than A. 

If B + C = 506 lbs then what is the weight of C? 

Correct Option - 2

317 lbs1.
175 lbs2.
275 lbs3.
217 lbs4.
Cannot be determined5.

Que. 35 Who among the following is second heaviest person? 

Correct Option - 2

E1.
A2.
D3.
C4.
G5.

Que. 36 If F + D = 449 lbs then what can be the possible weight of G?

Correct Option - 4

275 lbs1.
290 lbs2.
170 lbs3.
195 lbs4.
160 lbs5.

Que. 37 Directions: Two statements are followed by three conclusions I, II and III. You have to consider the
statements to be true, even if they seem to be at variance from commonly known facts. You are to



decide which of the given conclusions can definitely be drawn from the given statements and indicate your
answer accordingly.

Statements:
I: The Western District of New York Human Trafficking Task Force is launching a new public campaign to call
attention to the ongoing issue of human trafficking for both sexual and labour purposes.
II: The International Labor Organization estimates there are between 400,000 to 500,000 individuals now being
trafficked in the United States.   
Conclusions:                                     
I: The government is paying much attention to this problem and is successful in curbing it.
II: A large number of individuals are being trafficked in the US which involves men, and women.
III:  The public is now encouraged to call the National Human Trafficking Hotline at 1-888-373-7888 if they
suspect someone may be a victim of trafficking.

Correct Option - 2

Only conclusion I follows1.
Only conclusion II follows2.
Either conclusion III or II follows3.
Neither conclusion I nor II follows4.
Both conclusions II and III follow5.

Que. 38 Directions: The critical reasoning question is based on a short argument, a set of statements, or a plan
of action. For each question, select the best answer of the choices given and explain why the chosen

answer is the right fit.
Statement:  The management of XYZ Ltd is concerned that their Chairman and influential leader Mr. Amit
Gupta, who has been at the helm of the company over 40 years and oversaw the meteoric rise of the company,
could fall seriously ill any day due to old age.
Which of the following statements is/are a viable course of action to tackle the problem?
I. Scouting for a suitable successor to Mr. Amit Gupta should be started right away.
II. The son of Mr. Amit Gupta should be made Chairman of the company.
III. The Vice President of the company should be made Chairman of the company.

Correct Option - 1

Only (I)1.
Only (II)2.
Only (III)3.
Either (II) or (III)4.
None of the above5.

Que. 39 Directions: The critical reasoning question is based on a short argument, a set of statements, or a plan
of action. For each question, select the best answer of the choices given and explain why the chosen

answer is the right fit.
Statements: Kalyan Jewellers Pvt.Ltd has filed its draft red herring prospectus (DRHP) with market regulator
SEBI for a Rs 1,750-crore initial public offer (IPO). The IPO will facilitate a partial exit for the private equity



investor Warburg Pincus and also facilitate debt reduction. The fresh issue component will be Rs 1,000 crores
and the promoters and Warburg Pincus will dilute stake worth Rs 250 crore and Rs 500 crore.
Which of the following assumptions hold?

Correct Option - 5

Warburg Pincus anticipates losses going ahead and want to exit the shareholding.1.
Gold rates are at historic lows so Jewellery need to raise money.2.
Board of Kalyan Jewellers has decided to reduce the Company's debt from the proceeds of the IPO.3.
Jewellery groups are not allowed to file for IPO if they don't have a private investor.4.
None of the above assumptions hold.5.

Que. 40 Directions: The critical reasoning question given below consists of passage followed by two questions
involving three statements. You must read the passage and statements carefully and choose the correct

answer from the alternatives given below.
Passage: We must inculcate good manners in children from childhood itself. Words like “Sorry” and “Thank
You” must become part of our daily vocabulary so that together we can build a civilised society. We must also
teach them to be kind and understanding towards fellow human beings. They must learn to empathise with
others. These things, if done effectively, can greatly curtail the intolerance that is prevalent in our nation today.
Tomorrow, at least, will be brighter.

Which of the above incidents, if true, best repudiates the argument put forward by the passage?

Correct Option - 1

Mr. A was born to a rich family, was taught good manners and empathy effectively, but was convicted for
mob-lynching.

1.

Mr. B was born to a poor family, behaved rudely in general, but rescued a person who was being mob
lynched.

2.

Mr. C was an alcoholic and drug addict but still had good manners.3.
Both (1) and (2)4.
 None of the above5.

Que. 41 What will come in the place of the question mark ‘?’ in the following question?
15, 15, 31, 95, 383, ?

Correct Option - 3

18151.
19152.
19193.
18194.
19355.

Que. 42 What will come in the place of the question mark ‘?’ in the following question?
8, 12, 39, 55, 180, ?



Correct Option - 4

2141.
2152.
3153.
2164.
3455.

Que. 43 What should come in place of the question mark '?' in the following number series?
236, 233.5, 226, 193.5, 141, ?

Correct Option - 4

48.51.
522.
99.53.
73.54.
725.

Que. 44 What should come in place of the question mark '?' in the following number series?
10000, 3000, 1800, 1620, ?

Correct Option - 4

15601.
7902.
14603.
19444.
None of these5.

Que. 45 What should come in the place of question mark '?' in the following number series?
9, 19, 59, 239, ?

Correct Option - 2

12391.
11992.
7893.
24594.
5465.

Que. 46 Directions: Read the given Pie chart and table carefully and answer the following questions.
The following pie chart shows the percentage of boys who attended the college. Total 80 boys attended

college A in five different months.



 Month
Average number of
students (boys and

girls)
Jan 25
Feb 22

March 35
April 14
May 20

 
The following table shows the average number of students (boys and girls) who attended the college each month.

 
 
 
 
 
 
 
 

What is the difference between the number of Male and Female students in the month of Feb, March and April?

Correct Option - 4

241.
352.
683.
384.
485.

Que. 47 Number of girls attended the college in the month of April and May is what percentage of total number
of girls who attended the college(approx value)? 

Correct Option - 5

32%1.
28%2.
19%3.
25%4.
21%5.

Que. 48 In another college E, the average number of students who attended college in the month of January is
20% more than the average number of students who attended college A in the month of March.

Calculate the number of boys in college E for the month of January if the number of girls is the same.



Correct Option - 1

461.
282.
383.
364.
255.

Que. 49 What is the ratio between the number of boys who attended the college in the month of Feb and May
and the number of girls who attended the college in the same month?

Correct Option - 3

6 ∶ 111.
11 ∶ 62.
8 ∶ 133.
13 ∶ 84.
7 ∶ 155.

Que. 50 What is the average number of girls attending the college in the month of January, March and April?

Correct Option - 2

66.661.
33.332.
28.53.
45.254.
325.

Que. 51 If two dices A and B are rolled simultaneously, what is the probability that the number appearing on the
top faces of the dice A is a multiple of number appearing on the top faces of the dice B and vice versa?

Correct Option - 1

11/181.
2/32.
1/23.
5/64.
None of These5.

Que. 52 P, Q and R are three towns on a River  which flows uniformely. Q is equidistance from P and R. A man
rows from P to Q and return in 10 hour. He can row P to R in downstream in 4 hour. Find the Ratio of

speed of man in still water to that of current(River).

3 : 51.
5 : 32.



Correct Option - 2

1 : 23.
2 : 14.
None of the above5.

Que. 53 These are two set of series :
Series 1: It contains four consecutive odd numbers, whose average is 28.

Series 2: It contains three consecutive even numbers.
The sum of the second and third number of series 1 is equal to the largest number of series 2.
Find the sum of all the numbers of series 2.

Correct Option - 3

1261.
1742.
1623.
1524.
1425.

Que. 54 Mohan invested a sum of the amount at the rate of 15% SI per annum for two years and received a total
amount of Rs.9984. He invested the same amount at the rate x% per annum at CI for two years and he

received interest Rs. 6500 more as compared to the Simple Interest, then find the value of x%.(approximately.)

Correct Option - 1

46.5%1.
30.5%2.
25.5%3.
35.5%4.
22.5%5.

Que. 55 A shopkeeper purchased a chair marked at Rs. 900 at two successive discount of 25% and 15%
respectively. He spent Rs. 26.25 on transportation and sold the chair for Rs. 735. His gain percentage

was?

Correct Option - 2

20%1.
22.5%2.
25%3.
30%4.
32.5%5.

Que. 56 Direction: Study the bar graph and table carefully to answers the given questions:



The following bar graph shows the percentage of mobiles sold by five shops A, B, C, D and E respectively. The
total sales is the combination of mobile and tablets.

The table shows the average sales of mobile and tablets of five shops.

Shops Average sale of Mobiles and
Tablets

A 90
B 70
C 50
D 55
E 60

 

Find the approx. average mobiles sales of five shops.

Correct Option - 1

661.
702.
603.
584.
495.

Que. 57 The tablets sales of shop E is approximately what percent more than the tablets sales of shop D?

20%1.
22%2.
50%3.
65%4.



Correct Option - 3

60%5.

Que. 58 Find the difference between the sales of mobiles of shop D and shop C?

Correct Option - 4

131.
102.
93.
114.
155.

Que. 59 Find the ratio between the sales of tablets of shop C and the sales of mobiles of shop B?

Correct Option - 4

13 : 161.
9 : 112.
11 : 133.
15 : 284.
1 : 25.

Que. 60 The sales of tablets of shop A is approximately what percent of total sales of tablets of five shops?

Correct Option - 2

30%1.
34%2.
40%3.
38%4.
37%5.

Que. 61 A starts a taxi service by investing Rs. 25 lakhs. After 3 months, B joins the business by investing RS
40 lakhs then 4 months after B joined, C too joins by investing Rs. 50 lakhs. One year after A started

the business they make Rs 2,73,000 in profit . What is C's share of the profit(in Rs)?

Correct Option - 2

Rs1,00,0001.
Rs.75,0002.
Rs.1,25,0003.
Rs.1,50,0004.
none of the above5.



Que. 62 The average age of a family of 9 members is 20 years. If the age of the youngest son of the family is 8
years, then the average age of the members of the family just before the birth of the youngest son was.

Correct Option - 4

15 years1.
11.5 years2.
12 years3.
13.5 years4.
13 years5.

Que. 63 A person was asked to state his age in years. His reply was, 'Take my age 4 years hence, multiply it by
3 and then subtract 4 times my age three years ago and you will know how old I am'. What was the age

of the person?

Correct Option - 3

15 years1.
18 years2.
12 years3.
24 years4.
6 years5.

Que. 64 On selling an article, Ram got a profit of 80%. If the CP is increased by 20%, find the percentage
decrease in profit percentage.

Correct Option - 1

37.5%1.
30%2.
35%3.
33.33%4.
28.75%5.

Que. 65 If the 20 liters mixture of milk and water contains 60% milk. If x L of milk added then the mixture
contains 80% milk. Now if 40% mixture is emptied in another flask. Find the remaining quantity of

milk in remaining mixture.

Correct Option - 1

19.2 L1.
16.2 L2.
14.2 L3.
21.2 L4.
12.2 L5.

Que. 66



The information given below is regarding the number of students who appeared in three different exams P, Q,
and R in four different years 2017, 2018, 2019, and 2020.
In 2017:
Students who appeared in exam P was twice the students who appeared in exam Q. Total students who appeared
in three exams together was 3280. Students who appeared in exam Q was 80 more than students who appeared in
exam R.
In 2018:
Students who appeared in exam Q were 40% more than students who appeared in exam P while students who
appeared in exam R were 20% more than students who appeared in exam Q. Total students who appeared in all
three exams together was 4896.
In 2019:
The ratio of students who appeared in exam P to exam Q was 7 : 9. Students who appeared in exam R was 25%
more than students who appeared in exam Q. Total students who appeared in all three exams together was 4360.
In 2020:
The average of students who appeared in exams P and Q was 1120. Students who appeared in exam R was 1200.
The ratio of students who appeared in exam P to exam R was 4 : 5.

What is the difference between the number of students who appeared in exams Q and R together in 2017 and the
number of students who appeared in exams P and Q together in 2019?

Correct Option - 1

 9601.
 9802.
 9503.
 9704.
None of the above5.

Que. 67 What is the ratio of the number of students who appeared in exams P and Q in 2018 to the number of
students who appeared in exams P and R in 2020?

Correct Option - 2

5 : 71.
4 : 32.
4 : 73.
5 : 34.
4 : 15.

Que. 68 Ratio of the number of girls to boys who appeared in exam P in 2017 was 5 : 7 and 35% of total
students who appeared in exam R in 2019 were boys. What is the sum of the number of boys who

appeared in exam P in 2017 and exam R in 2019?

15801.
16002.
15003.
16104.



Correct Option - 4

16305.

Que. 69 Find the total number of students who appeared in all three exams in all four years together.

Correct Option - 3

15,8561.
​15,9062.
15,9763.
15,9144.
15,9545.

Que. 70 In 2019, 10%, 20%, and 20% of students who appeared in exams P, Q, and R cleared the respective
exams while in 2020 percentage for the same was 20%, 10%, and 40%. How many students cleared all

three exams in these two years?

Correct Option - 2

15561.
15602.
15763.
15454.
None of the above5.

Que. 71 A train crosses a platform and a tunnel in 18 and 32 seconds respectively. The speed of the train and
length of the train are 45 km/hr and 140 metres respectively. Find that the length of the platform is

approximately what percent less than the length of tunnel?

Correct Option - 2

72%1.
67%2.
82%3.
61%4.
51%5.

Que. 72 If 5 men with 7 boys can earn Rs. 4185 in 7 days and 2 men with 3 boys can earn Rs. 1230 in 5 days,
in what time will 7 men with 6 boys earn Rs. 21189? 

15 days1.
20 days2.
30 days3.
25 days4.
None of these5.



Correct Option - 3

Que. 73 Directions: The following question is accompanied by two statements (I) and (II). You have to
determine which statements(s) is/are sufficient/necessary to answer the questions.

Find the height of cylinder.
I) A rectangular piece of paper of breadth 22 cm is rolled along breadth to form a cylinder. If the curved surface
area of a cylinder is 264 cm2. 

II) The volume of cylinder is 462 cm3.

Correct Option - 1

The statement I alone is sufficient to answer the question, but the statement II alone is not sufficient. 1.
The statement II alone is sufficient to answer the question, but the statement I alone is not sufficient. 2.
Both the statements I and II together are needed to answer the question.3.
Either statement I alone or statement II alone is sufficient to answer the question. 4.
Neither statement I nor statement II is sufficient to answer the question.5.

Que. 74 Directions: The following question is accompanied by two statements (I) and (II). You have to
determine which statements(s) is/are sufficient/necessary to answer the questions.

Find the discount percentage.
I) The marked price of an article is Rs. 3800. But due to sale a certain percent of discount is declared.
II) Amit availed the opportunity and bought the article at Rs. 3200 and thereby made a profit of (100/7)%.

Correct Option - 3

The statement I alone is sufficient to answer the question, but the statement II alone is not sufficient.1.
The statement II alone is sufficient to answer the question, but the statement I alone is not sufficient. 2.
Both the statements I and II together are needed to answer the question. 3.
Either statement I alone or statement II alone is sufficient to answer the question. 4.
Neither statement I nor statement II is sufficient to answer the question.5.

Que. 75 Directions: The following question is accompanied by two statements (I) and (II). You have to
determine which statements(s) is/are sufficient/necessary to answer the questions.

How much did Rohit borrowed?
I) Rohit borrowed a sum at 10% per annum simple interest from Rakesh. He returns the amount after 5 years.
II) Rakesh return 5% of the total amount received if he received Rs. 240. 

Correct Option - 2

The statement I alone is sufficient to answer the question, but the statement II alone is not sufficient. 1.
Both the statements I and II together are needed to answer the question. 2.
The statement II alone is sufficient to answer the question, but the statement I alone is not sufficient.3.
Either statement I alone or statement II alone is sufficient to answer the question. 4.
Neither statement I nor statement II is sufficient to answer the question.5.



Que. 76 Directions: The following question is accompanied by two statements (I) and (II). You have to
determine which statements(s) is/are sufficient/necessary to answer the questions.

Find the total hours to make Rs. 2200?
I) A man earn Rs. 1500 for his first 30 hours in a week.
II) If After 30 hours he gets seven-fifths times his regular hourly rate for any additional hours then the total hours
to make Rs. 2200.

Correct Option - 3

The statement I alone is sufficient to answer the question, but the statement II alone is not sufficient. 1.
The statement II alone is sufficient to answer the question, but the statement I alone is not sufficient. 2.
Both the statements I and II together are needed to answer the question. 3.
Either statement I alone or statement II alone is sufficient to answer the question. 4.
Neither statement I nor statement II is sufficient to answer the question.5.

Que. 77 Read the following data and answer the following question.
The ratio between the undergraduate and postgraduate population of a village is 8 : 5. The difference

between the male and female population of the village is 110. The total undergraduate and male population of the
village is 780. The female postgraduate population is 60% of the total postgraduate population of the village. The
male postgraduate population of the village is 100.

The female undergraduate population of the village is approximately what percent less than the male
undergraduate population of the village?

Correct Option - 5

46%1.
32%2.
59%3.
33%4.
57%5.

Que. 78 Find the difference between the undergraduate and postgraduate population of the village.

Correct Option - 3

1001.
1202.
1503.
1104.
1805.

Que. 79 The ratio between the male population and postgraduate population of the village is

5 : 71.
38 : 252.
25 : 363.



Correct Option - 2

19 : 184.
18  :195.

Que. 80 There are two brothers Rohan and Rajiv. Rohan is three years older than his brother Rajiv. Ten years
ago, At the time of the birth of their sister, the age of Rohan was 8 years. The present age of the father

is the sum of the age of Rohan, Rajiv, and their sister. The sum of the present age of Parents is 84 years. Find the
difference between the present age of their parents.

Correct Option - 1

2 years1.
1 years2.
3 years3.
5 years4.
0 years5.

Que. 81 What is theme of G20 2020 Summit which was  hosted by Saudi Arabia ?

Correct Option - 3

Shaping an interconnected world1.
Women Empowerment2.
Realizing opportunities of the 21st century for all3.
Building consensus for fair and sustainable development4.
 Global Sustainable Development5.

Que. 82 Pradhan Mantri Mudra Yojana was launched on 8th April 2015 by Prime Minister Narendra Modi.
Under the scheme a loan of up to what amount is given under sub-scheme ‘Tarun’?

Correct Option - 5

Rs. 3 lakh to 5.0 Lakhs1.
Rs. 50,000 to 5.0 Lakhs2.
Rs. 1.0 Lakhs to 10.0 Lakhs3.
Rs. 2.0 Lakhs to 10.0 Lakhs4.
Rs. 5.0 Lakhs to 10.0 Lakhs5.

Que. 83 What is the theme of the International Mountain Day 2020?

Mountains matter for Youth1.
Mountain biodiversity2.
Mountains Matter3.
Mountains under Pressure: climate, hunger, migration4.
Mountain cultures: Celebrating diversity and strengthening identity5.



Correct Option - 2

Que. 84 Which among the following is the name of the scheme launched by Karnataka Vikas Grameena Bank
to provide loan to Micro, Small and Medium Enterprises?

Correct Option - 5

Sabka Vikas1.
Ekta Shamta2.
Sabka Abhiman3.
Atmanirbhar Vikas4.
Vikas Abhaya5.

Que. 85 Who among the following is the author of the book “Songs of India”?

Correct Option - 3

Ravindranath Tagore1.
Devendra Nath Tagore2.
Sarojni Naidu3.
Shyamlal4.
None of these5.

Que. 86 Which of the following is/are the central themes of the Union Budget 2020?

Correct Option - 4

Aspirational India1.
Economic Development for All2.
Caring Society3.
All of these4.
None of these5.

Que. 87 Which of the following is not a educational scheme?

Correct Option - 1

PRASAD 1.
Dishtavo2.
NISHTHA3.
SWAYAM 4.
RUSA5.

Que. 88 Which country lifted the 2019 ICC World Cup cricket trophy?

New Zealand1.



Correct Option - 2

England2.
Australia3.
India4.
West Indies5.

Que. 89 #GotYouCovered campaign is introduced by which of the following Insurance company?

Correct Option - 1

Bharti AXA Life Insurance1.
Bajaj Allianz General Insurance2.
Tata AIA Life Insurance3.
Max Life Insurance Co. Ltd.4.
SBI Life Insurance Co. Ltd.5.

Que. 90 In Union Budget 2019-20, which scheme was launched was launched to promote processing in the
fishery sector?

Correct Option - 2

PMKSNY1.
PMMSY2.
PMSMDY3.
RKA4.
None of these5.

Que. 91 'World Population Day' is celebrated on ____ of every year.

Correct Option - 1

11th July1.

20th  July2.

25th July3.

5th July4.

26 July5.

Que. 92 The RBI has proposed a minimum equity capital of how many crores under "On Tap" License regime
to set up SFB(Small Finance Bank)?

200 Crores1.
700 Crores2.
100 Crores3.
500 Crores4.
450 Crores5.



Correct Option - 1

Que. 93  Allahabad Bank has amalgamated with which of the following bank?

Correct Option - 4

Bank of Baroda1.
State Bank of India2.
Punjab National Bank3.
Indian Bank4.
DSB Bank5.

Que. 94 Which of the following is the first Small Finance Bank in India?

Correct Option - 3

FINCARE Small Finance Bank1.
Equitas Small Finance Bank2.
Capital Small Finance Bank3.
ESAF Small Finance Bank4.
Utkarsh Small Finance Bank5.

Que. 95 Foreign banks having shortfall in lending to priority sector lending target will be required to contribute
to;

Correct Option - 2

The Rural Infrastructure Development Fund (RIDF) established with NABARD.1.
The funds to be set up with Small Industries Development Bank of India (SIDBI)2.
Finance deficit amount in next financial year.3.
All of the above4.
None of these5.

Que. 96 HDFC Bank has launched an agricultural loan offering, Shaurya Kisan gold card (KGC). Shaurya
KGC will come with an insurance cover of how many rupees?

Correct Option - 4

4 lakh1.
6 lakh2.
8 lakh3.
10 lakh4.
12 lakh5.

Que. 97 What is the amount allocated to Mahatma Gandhi National Rural Employment Guarantee Act
(MGNREGA) Scheme in the Union Budget for 2019-20?



Correct Option - 1

₹ 60000 crore1.
₹ 80000 crore2.
₹ 50000 crore3.
₹ 70000 crore4.
None of the above5.

Que. 98 Prime Minister Narendra Modi will virtually inaugurate the largest section of the Eastern Dedicated
Freight Corridor in December 2020 in which state?

Correct Option - 1

Uttar Pradesh1.
Bihar2.
Madhya Pradesh3.
Odisha4.
Jharkhand5.

Que. 99 The new ‘School Bag Policy, 2020 is released by ________.

Correct Option - 1

NCERT1.
CBSE2.
NIC3.
Ministry of Home Affairs4.
None of the above.5.

Que. 100 Regional Rural Banks will have a target of _______ of total outstanding for priority sector lending in
Agriculture.

Correct Option - 2

20%1.
18%2.
16%3.
15%4.
10%5.

Que. 101 The ‘Aspirational District Programme (ADP)’ was launched by the Prime Minister Narendra Modi on
January 5, 2018. Which of the following is not part  of ‘Aspirational District Programme '?

It is a special initiative to rapidly transform 115 identified districts that have shown relatively lesser
progress in key social areas

1.

The Baseline Ranking was released by NITI Aayog on April 1, 2018.2.



Correct Option - 4

NITI Aayog in partnership with the Government of Andhra Pradesh has created a dashboard for
monitoring the real-time progress of the districts.

3.

There are 70 Key Performance Indicators (KPIs).4.
The aim is to realise the vision of ‘SabkaSaath, SabkaVikas’, and ensure that India’s growth process
remains inclusive.

5.

Que. 102 What is maximum amount of loan that bank avail under PSB Loans in 59 Minutes" scheme.?

Correct Option - 3

1 crore1.
2 crore2.
5 crore3.
10 crore4.
.5 crore5.

Que. 103 Which of the following institutes has developed a classroom-to-home teaching setup
'mobile Masterjee' that can record the lectures or instructions by the teachers while using their

available smartphones?

Correct Option - 4

IIT Delhi1.
IIT Bombay2.
IIT Kharagpur3.
IIT Kanpur4.
IIT Guwahati5.

Que. 104 The Statue of Unity is the tallest statue in the world and is situated in Kevadia. It is located in which
of the following district?

Correct Option - 4

Surat1.
Gandhi nagar2.
Ahemdabad3.
Narmada4.
None of these5.

Que. 105 Who among the following Indian celebrities has RBI roped in for the customer awareness campaign
to prevent gullible account holders from being duped by fraudsters? (Sep)

Kangana Ranaut1.
Anushka Sharma2.
Amitabh Bachchan3.



Correct Option - 3

Shahrukh Khan4.
Virat Kohli5.

Que. 106 Which bank has released the National Strategy for Financial Education (NSFE) for 2020 to 2025?

Correct Option - 2

DBS1.
RBI2.
HDFC Bank3.
SBI4.
Axis Bank5.

Que. 107 Which of the following countries has topped in Digital Quality of Life Index 2020

Correct Option - 3

New Zealand1.
Netherland2.
Denmark3.
China4.
USA5.

Que. 108 Recently, which one of the following currencies has been proposed to be added to the basket of IMF's
SDR?

Correct Option - 4

Rouble1.
Rand2.
Indian Rupee3.
Renminbi4.
Rupees5.

Que. 109 The National Green Tribunal extended the time limit for the constitution of Biodiversity Management
Committees and the preparation of People’s Biodiversity Registers. Which among the following was

the first state to form BMC? (Dec) 

Andhra Pradesh1.
Uttar Pradesh2.
Madhya Pradesh3.
Kerala4.
Maharastra5.



Correct Option - 4

Que. 110 Who authored the book Planned Economy for India ?

Correct Option - 1

M. Visvesvaraya1.
J. R. D. Tata 2.
G. D. Birla3.
Pattabhi Sitaramayy4.
None of the above/More than one of the above5.

Que. 111 In which year the merger of railway budget and union budget took place?

Correct Option - 1

20171.
20182.
20193.
20204.
20165.

Que. 112 How much (in lakh crore) money is allocated for the Defence in the Budget 2020 ?

Correct Option - 5

3.351.
4.372.
2.373.
3.394.
3.375.

Que. 113 What is the nominal GDP growth rate for 2020-21 estimated in the Budget 2020?

Correct Option - 3

20%1.
15%2.
10%3.
12%4.
18%5.

Que. 114 How many archaeological sites to be developed as the world class museum stated in the Budget 2020
?

41.



Correct Option - 4

32.
73.
54.
25.

Que. 115 Which of the following categories comes under priority sector?

Correct Option - 5

Export Credit1.
Agriculture2.
Social Infrastructure3.
Renewable Energy4.
All of the above5.

Que. 116 Pradhan Mantri MUDRA Yojana (PMMY) is the subsidiary of which of the following?

Correct Option - 2

Life Insurance Corporation of India1.
Small Industries Development Bank of India2.
Insurance Regulatory and Development Authority3.
Reserve Bank of India4.
None of the above.5.

Que. 117 In 1969, the Government of India nationalized _____ major banks.

Correct Option - 4

121.
162.
183.
144.
None of the above/ More than one of the above5.

Que. 118 What is the maximum limit of amount that can be deposited in a Sukanya Samriddhi Account in a
financial year?

Rs. 2,00,000  1.
Rs. 1,50,0002.
Rs. 1,25,0003.
Rs. 1,00,0004.
Rs. 75,0005.



Correct Option - 2

Que. 119 Which was the first UN organization to start accepting crypto currency donations?

Correct Option - 1

UNICEF1.
UNESCO2.
UNDP3.
WTO4.
None of the above/ More than one of the above5.

Que. 120 NEFT operates in how many batches in a day?

Correct Option - 2

Hourly basis1.
Half Hourly Basis2.
Two Hourly Basis3.
Quarterly basis4.
None of these.5.

Que. 121 Two sentences are given to you. Five options are given for both the sentences. Choose the
correct option.

I. In 1949, the Council of Europe was found with the idea of unifying Europe to achieve common goals and
prevent future wars.
II. The EU originated in Western Europe but has been expanding eastward since the fall of the Soviet Union in
1991.

Correct Option - 1

Only sentence (I) has an error1.
Only sentence (II) has an error2.
There is no error in both of the sentences3.
There is an error in both of the sentences4.
There is more than one error in either of the sentences5.

Que. 122 Two sentences are given to you. Five options are given for both sentences. Choose the correct
option.

I. The late 19th century saw the passage of the first piece of wildlife conservation legislation and the
establishment of the first nature conservation society.
II. The control of wildlife through killing and hunting has been criticized by animal rights and animal welfare
activists.

Only sentence (I) has an error1.
Only sentence (II) has an error2.



Correct Option - 3

There is no error in both of the sentences3.
There is an error in both of the sentences4.
There is more than one error in either of the sentences5.

Que. 123 Two sentences are given to you. Five options are given for both the sentences. Choose the
correct option.

I. The increasing demand for wildlife as a source of traditional food in East Asia is decimating populations of
sharks, primates, pangolins and other animals, which they believe have aphrodisiac properties.
II. Many processes associated with human habitation of area cause loss of this area and decrease the carrying
capacity of the land for that species. 

Correct Option - 2

Only sentence I has an error1.
Only sentence (II) has an error2.
There is no error in both of the sentences3.
There is an error in both of the sentences4.
There is more than one error in either of the sentences5.

Que. 124 Two sentences are given to you. Five options are given for both the sentences. Choose the
correct option.

I. Wildlife traditionally refers undomesticated animal species, but has come to include all organisms that grow or
live wild in an area without being introduced by humans.
II. Humans have historically tended to separate civilization from wildlife in a number of ways, including the
legal, social, and moral senses. 

Correct Option - 1

Only sentence (I) has an error1.
Only sentence (II) has an error2.
There is no error in both of the sentences3.
There is an error in both of the sentences4.
There is more than one error in either of the sentences5.

Que. 125 Direction: In the following question, out of four alternatives, select the word which can replace the
underlined word given in the question. In case no replacement is needed, select 'None of these'.

Psychosocial assessment considers several key areas related to psychological, biological, and social functioning
and the availability of supports.

Articulation1.
Ventilation2.
Declaration3.
Evaluation4.
None of these5.



Correct Option - 4

Que. 126 Direction: In the following question, out of four alternatives, select the word which can replace
the underlined word given in the question. In case no replacement is needed, select 'None of

these'. 

Ramayana from Valmiki states that the great mountain Vindhya that was growing incessantly and obstructing the 
path of the Sun stopped growing any more in obedience to Agastya's words.

Correct Option - 5

Occasionally1.
Diligently2.
Frequently3.
Intermittently4.
None of these5.

Que. 127 Direction: In the following question, out of four alternatives, select the word which can replace
the underlined word given in the question. In case no replacement is needed, select 'None of

these'. 
Since the early 20th century, tiger populations have lost at least 93% of their historic range and have been 
extirpated in Western and Central Asia, from the islands of Java and Bali, and in large areas of Southeast and 
South Asia and China.

Correct Option - 3

Ameliorated1.
Improved2.
Eradicated3.
Worsen4.
None of these5.

Que. 128 Direction: In the following question, out of four alternatives, select the word which can replace the
underlined word given in the question. In case no replacement is needed, select 'None of these'.

Those who follow world affairs would not be entirely wise to consign colonialism to the proverbial dustbin of
history, as it remains a relevant factor in understanding the problems and the dangers of the world.

Correct Option - 4

Announce1.
Circulate2.
Indicate3.
Assign4.
None of these5.



Que. 129 Direction: In the following question, out of four alternatives, select the word which can replace
the underlined word given in the question. In case no replacement is needed, select 'None of

these'. 

Biden himself spoke of this being a time to heal the stark divisions that have arisen in his country and to end the
toxic polarisation that has poisoned the politics of the world’s oldest democracy.

Correct Option - 1

Dissension1.
Transmission2.
Communication3.
Proclamation4.
None of these5.

Que. 130 In the following question, two columns are given containing three phrases each. In the first
column, phrases are A, B, and C and in the second column, the phrases are D, E and F. A phrase

from the first column may or may not connect with a phrase from the second column to make a
grammatically and contextually correct sentence. There are five options, four of which display the
sequence(s) in which the phrases can be joined to form a grammatically and contextually correct sentence.
If, none of the options given forms a correct sentence after combination, select 'None of these' as your
answer.

Column (1) Column (2)

(A) An important point that the Survey makes is that of the Indian economy (D) based on naturally
occurring biological processes.

(B) Tree Plantation drives combat many environmental issues like
deforestation, erosion of soil, desertification in semi-arid areas, global
warming and hence

(E)recovering during the
second half of this year.

(C) Organic farming methods combine scientific knowledge of ecology and
some modern technology with traditional farming practices

(F) enhancing the balance of
the environment.

Correct Option - 3

A-D, B-E, C-F1.
A-E, B-D, C-F2.
A-E, C-D, B-F3.
A-F, B-D, C-E4.
None of these5.

Que. 131 In the following question, two columns are given containing three phrases each. In the first
column, phrases are A, B, and C and in the second column, the phrases are D, E and F. A phrase

from the first column may or may not connect with a phrase from the second column to make a
grammatically and contextually correct sentence. There are five options, four of which display the
sequence(s) in which the phrases can be joined to form a grammatically and contextually correct sentence.
If, none of the options given forms a correct sentence after combination, select 'None of these' as your
answer.

Column(1) Column(2)



(A) Digital photographs are typically created solely
by 

(D) a certain type of behavioural restraint that has
resulted in the establishment of regional peace or
economic.

(B)Throughout history leaders have used
diplomacy to establish  (E) stimulate the economy.

(C) Several academics have favoured more public
spending on social welfare and infrastructure to 

(F) computer-based photoelectric and mechanical
techniques, without wet bath chemical processing.

Correct Option - 4

A-E, B-F, C-D1.
A-D, B-F, C-E2.
A-F, B-E, C-D3.
A-F, B-D, C-E4.
None of these5.

Que. 132 In the following question, two columns are given containing three phrases each. In the first
column, phrases are A, B, and C and in the second column, the phrases are D, E and F. A phrase

from the first column may or may not connect with a phrase from the second column to make a
grammatically and contextually correct sentence. There are five options, four of which display the
sequence(s) in which the phrases can be joined to form a grammatically and contextually correct sentence.
If, none of the options given forms a correct sentence after combination, select 'None of these' as your
answer.

Column (1) Column(2)
(A) Every culture has
its own stories or
narratives, which are
shared as

(D) social researchers draw
upon a variety of qualitative
and quantitative techniques.

(B)The range of social
scientific methods has
also expanded, as 

(E) in varying ways,
according to the purposes of
the speaker or author, and the
characteristics of the situation
they are concerned with.

(C) Public policy can
be conceptualized 

(F) a means of entertainment,
education, cultural
preservation or instilling
moral values.

Correct Option - 2

A-E, B-F, C-D1.
A-F, B-D, C-E2.
A-E, B-D, C-F3.
A-F, B-E, C-D4.
None of these5.

Que. 133 In the following question, two columns are given containing three phrases each. In the first
column, phrases are A, B, and C and in the second column, the phrases are D, E and F. A phrase



from the first column may or may not connect with a phrase from the second column to make a
grammatically and contextually correct sentence. There are five options, four of which display the
sequence(s) in which the phrases can be joined to form a grammatically and contextually correct sentence.
If, none of the options given forms a correct sentence after combination, select 'None of these' as your
answer.

Column (1) Column (2)
(A) Democracy makes all forces struggle
repeatedly to realize 

(D) their interests and devolves power from groups of
people to sets of rules.

(B)Individuals' reactions to the conflict are
shaped 

(E) increased wealth, proper functioning of a system, or
enhanced well-being

(C) The benefits of resource utilization may
include

(F) by their perception of the situation and people in the
situation.

Correct Option - 1

A-D, B-F, C-E1.
A-F, B-D, C-E2.
A-D, B-E, C-F3.
A-F, B-E, C-D4.
None of these5.

Que. 134 Complete the paragraph given below:
We expect India’s central government to remain generally reform-minded over the next few years,

and potential areas for further reform seem plentiful, in our view. However, the process of reform in
________________, and implementation at times has proven difficult.

Correct Option - 2

to help reverse and mitigate climate 1.
India remains complex2.
to making climate change a prominent issue3.
As things worsen globally4.
in the rapidly warming region5.

Que. 135 Complete the paragraph given below:
The Survey notes that India’s healthcare policy must continue focusing on its ___________________.

It notes that countries with more fragmented health systems tend to have lower performance as reflected in
higher costs, lower efficiency, and poor quality.

Correct Option - 5

responsibility towards commercial banks1.
groups have to be creative 2.
 by reminding them of the3.
were passing bills on environmental issues4.
long-term healthcare priorities5.



Que. 136 Complete the paragraph given below:
It is amazing how dominant Instagram has become in the world of social media. Eco-advocates would

be remiss to not ______________________and spur action on behalf of the plane.

Correct Option - 4

young people who have in turn showed up1.
fought the eco-depression and climate anxiety 2.
laughter has been proven to boost 3.
make use of it to raise awareness4.
in power to make smart decisions5.

Que. 137 Complete the paragraph given below:
In India, financial literacy and awareness should go hand in hand, if the very important socio-

economic objective of financial inclusion is to be achieved. ____________________because the majority of the
population is still beyond the pale of the banking system.

Correct Option - 3

Here are a few of our 1.
The producers of the account also2.
The task is challenging 3.
One way to be an eco-activist 4.
They were going to 5.

Que. 138 Given below is a word, followed by three sentences which consist of that word. Identify the
sentence(s) which best express(es) the meaning of the word. Choose option 5 ‘None of the above’

if the word is not suitable in any of the sentences.
FRAGILE
A. Please don't touch the vases - they're very fragile.
B. Fragile reasons make strong actions.
C. A few fragile men broke the ice on the lake and had a swim.

Correct Option - 2

Only B1.
Only A2.
Both B and C3.
Only C4.
None of the above5.

Que. 139 Given below is a word, followed by three sentences that consist of that word. Identify the
sentence(s) that best express(es) the meaning of the word. Choose option 5 ‘None of the above' if

the word is not suitable in any of the sentences.
ACCOMPLISH
A. You should accomplish the task within the allotted time.
B. It took us a month to accomplish the mission.



C. The captain gave the order to accomplish ship.

Correct Option - 3

Only A1.
Only B2.
Both A and B3.
Both B and C4.
None of the above5.

Que. 140 Given below is a word, followed by three sentences which consist of that word. Identify the
sentence(s) which best express(es) the meaning of the word. Choose option 5 ‘None of the above’

if the word is not suitable in any of the sentences.
ATTRACTIVE
A. I think it's attractive the way the government keeps putting up taxes.
B. Attractive packaging can help to sell products.
C. She looked attractive and beautifully dressed.

Correct Option - 4

Only A 1.
Only B2.
Only C3.
Both C and B4.
None of the above5.

Que. 141 Given below is a word, followed by three sentences which consist of that word. Identify the
sentence(s) which best express(es) the meaning of the word. Choose option 5 ‘None of the above’

if the word is not suitable in any of the sentences.
BLOCKED
A. The door blocked and Jo walked in.
B. The road was blocked by fallen logs.
C. A flock of sheep blocked our entry to the village.

Correct Option - 2

Only A1.
Both B and C2.
Both A and C3.
Only B4.
None of the above5.

Que. 142 Direction: In the following question two statements are given, with some words in bold. Select
the correct pair of bold words that are to be interchanged to make both the sentences

grammatically correct.



1. These findings(A) support an African origin(B) of modern lion evolution(C) with a most(D) centre in East 
and Southern Africa.
2. In probable(E) vertebrates, the frontal bone is paired(F), rather than presenting(G) the single, fused 
structure(H) found in humans.

Correct Option - 3

A-F1.
B-G2.
D-E3.
C-H4.
None of these5.

Que. 143 Direction: In the following question two statements are given, with some words in bold. Select
the correct pair of bold words that are to be interchanged to make both the sentences

grammatically correct.

1. Thousands, base(A) national-level dignitaries(B), attended the funeral ceremony(C) held in his hometown of 
Rameswaram, where he was buried with full state honours(D).
2. The bomb was detonated(E) on the army including(F) Pokhran Test Range (PTR), in Rajasthan, by the 
Indian Army under(G) the supervision of several(H) key Indian generals.

Correct Option - 2

B-G1.
A-F2.
C-E3.
D-F4.
None of these5.

Que. 144 Direction: In the following question two statements are given, with some words in bold. Select
the correct pair of bold words that are to be interchanged to make both the sentences

grammatically correct.

1. Kalam was elected(A) as the 11th President(B) of India in 2002 with the related(C) of both the ruling 
Bharatiya Janata Party and the then-opposition(D) Indian National Congress.
2. Fossil remains(E) of Panthera Spelaea excavated in the Cromer Stage indicate(F) that it represented a 
genetically isolated(G) and highly distinct lineage, not closely support(H) to Asiatic lions.

Correct Option - 2

A-F1.
C-H2.
B-H3.
C-G4.
None of these5.

Que. 145 Direction: In the following question two statements are given, with some words in bold. Select
the correct pair of bold words that are to be interchanged to make both the sentences



grammatically correct.

1. The source(A) of the Narmada is a small generates(B), known as the Narmada Kund, located(C) at 
Amarkantak on the Amarkantak plateau(D).
2. There is little room for controversy(E), since the need for decolonisation(F) is no longer much debated, and
what little remains of colonialism itself no longer reservoir(G) much conflict(H).

Correct Option - 4

A-F1.
C-H2.
D-E3.
B-G4.
None of these5.

Que. 146 Rearrange the following five sentences/group of sentences (A), (B), (C), (D), and (E) in the
proper sequence to form a meaningful paragraph; then answer the questions given below them.

A. It is understood that the rural population will take a little time to come to terms with the process of internet
payments and banking, but the people who are being mentioned here are the youth of India.
B.The same youth is considered illiterate when it comes to handling finances while they are growing up. 
C.While the economy is growing at such a great pace, the stagnant financial illiteracy among Indians is alarming.
D.The youth which is educated, technology savvy and smarter than the previous generations. 
E. In many cases, it has been noticed that these young people receive wrong financial advice from their relatives
resulting in potential losses.

Which of the following should be the FIFTH sentence after rearrangement?

Correct Option - 5

A1.
B2.
C3.
D4.
E5.

Que. 147 Which of the following should be the FOURTH sentence after rearrangement?

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 148 Which of the following should be the FIRST sentence after rearrangement?



Correct Option - 3

A1.
B2.
C3.
D4.
E5.

Que. 149 Which of the following should be the SECOND sentence after rearrangement?

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 150 Which of the following should be the THIRD sentence after rearrangement?

Correct Option - 4

A1.
B2.
C3.
D4.
E5.

Que. 151 A passage is given with 5 questions following it. Read the passage carefully and choose the best
answer to each question out of the five alternatives.

The culture of Africa is incredibly interesting due to the fact it is varied, depending on which country you visit.
The continent is home to diverse populations, many of which have been influenced by external factors. Each
country has its own tribes, languages and cultural differences. Even small African countries like Uganda have
more than thirty established tribes. The Zulu people are South Africa’s largest ethnic group. It is estimated that
between ten and eleven million people live in the province of KwaZulu-Natal. During 19th and 20th much of
South Africa was under apartheid and the Zulu people were classed as third-class citizens often suffering from
discrimination. Today they have equal rights along with all other citizens. The Maasai people live in the Rift
Valley region of Kenya and Tanzania. They own large herds of cattle, sheep and goats, which they regularly
move around to new grazing grounds and water sources. They are a proud and independent tribe who base their
wealth and power on cattle. The more cattle a Maasai member has, the more rich and powerful they are seen as
by their tribe. There are more than fifty unique tribes living in the Omo River Region of Southwestern Ethiopia,
making it a great place to visit if you are interested in African culture. Many of the traditional customs and
beliefs have remained intact due to lack of access to the area. Many people living in Eastern, Western and
Southern African villages are farmers. They live almost entirely off the food they grow themselves. Traditional
African food is also sold at outdoor markets. In countries like Morocco and Algeria, couscous is a popular dish
served with meat and vegetables. In Western Africa, it is common for people to grow and eat cassava, maize,
millet and plantains. When visiting African countries you will find that they are very traditional, with most
woman and girls carrying out the task of cooking meals. Colonisation has also affected the food and drinks



served in some parts of Africa such as Kenya where it is common for people to drink tea. Africans are one of the
biggest contributors to sculptural art. The art form of African sculpture dates back thousands of years with some
of the earliest sculptures being found in Egypt. There are thousands of indigenous languages and dialects spoken
in Africa. Every African country has its own languages, even the smaller countries. However, due to the fact that
many African countries were once part of European colonies, many people are able to speak Creole or Pidgin
versions of English, Portuguese or French. In Northern Africa, Arabic is spoken, whereas in East Africa Swahili
is the dominant language. When it comes to African history and culture there is so much to learn about. The best
way to understand the various different customs and cultures is to visit African countries and speak to the people.
With some of the most diverse customs, languages and traditions in the world, Africa is truly a fascinating
continent.

What is the author trying to say by the phrase 'South Africa was under apartheid' ?

Correct Option - 3

that industrialization was happening in South Africa1.
that South Africa was under terrorism attack2.
that South Africa had a policy of segregation on grounds of race3.
that South Africa was facing drought4.
None of the above5.

Que. 152 What is antonym of the word 'indigenous' given in the passage?

Correct Option - 1

Tramontane1.
Autochthonous2.
Primaeval3.
Aboriginal4.
Native5.

Que. 153 What is 'couscous'?

Correct Option - 5

It is the language they speak1.
It is a place in the southwestern Africa famous for tourist attraction2.
It is a dress that African people wore in special occassion3.
It is a rift valley where Maasai people lived4.
It is a popular dish served with meat and vegetables5.

Que. 154 On what basis were the Massai people regarded as rich and powerful?

by the way dressed 1.
on the basis of a number of cattle they had2.
on the basis of jobs3.
on the basis of money they had4.
None of the above5.



Correct Option - 2

Que. 155 What did the Zulu people have to face as third-class citizens?

Correct Option - 3

they had to face poverty1.
they were deprived of jobs2.
they had to face discrimination3.
they were considered as minority4.
None of the above5.

Que. 156 A passage is given with 5 questions following it. Read the passage carefully and choose the best
answer to each question out of the five alternatives.

Although there is no uniformly agreed-upon definition, AI generally is thought to refer to “machines that respond
to stimulation consistent with traditional responses from humans, given the human capacity for contemplation,
judgment and intention".According to researchers Shubhendu and Vijay, these software systems “make decisions
which normally require a human level of expertise” and help people anticipate problems or deal with issues as
they come up. As such, they operate in an intentional, intelligent, and adaptive manner. Artificial intelligence
algorithms are designed to make decisions, often using real-time data. They are unlike passive machines that are
capable only of mechanical or predetermined responses. Using sensors, digital data, or remote inputs, they
combine information from a variety of different sources, analyze the material instantly, and act on the insights
derived from those data. With massive improvements in storage systems, processing speeds, and analytic
techniques, they are capable of tremendous sophistication in analysis and decisionmaking.
AI generally is undertaken in conjunction with machine learning and data analytics. Machine learning takes data
and looks for underlying trends. If it spots something that is relevant for a practical problem, software designers
can take that knowledge and use it to analyze specific issues. All that is required are data that are sufficiently
robust that algorithms can discern useful patterns. Data can come in the form of digital information, satellite
imagery, visual information, text, or unstructured data.
AI systems have the ability to learn and adapt as they make decisions. In the transportation area, for example,
semi-autonomous vehicles have tools that let drivers and vehicles know about upcoming congestion, potholes,
highway construction, or other possible traffic impediments. Vehicles can take advantage of the experience of
other vehicles on the road, without human involvement, and the entire corpus of their achieved “experience” is
immediately and fully transferable to other similarly configured vehicles. Their advanced algorithms, sensors,
and cameras incorporate experience in current operations and use dashboards and visual displays to present
information in real-time so human drivers are able to make sense of ongoing traffic and vehicular conditions.
And in the case of fully autonomous vehicles, advanced systems can completely control the car or truck, and
make all the navigational decisions.

What is the synonym of the word "discern" given in the passage?

Correct Option - 4

Overlook1.
Overpass2.
Confound3.
Perceive4.
Embroil5.



Que. 157 According to passage how advanced algorithms, sensors and cameras help human drivers to make
sense of ongoing traffic and vehicular conditions?

Correct Option - 3

By improving storage systems, processing speeds, and analytic techniques1.
By forming digital information, satellite image, visual information, text, or unstructured data.2.
 By incorporating experience in current operations and using dashboards and visual displays to present
information in real-time

3.

By taking knowledge and use it to analyze specific issues.4.
None of the above5.

Que. 158 What is the antonym of the word "contemplation" given in the passage?

Correct Option - 5

Deliberation1.
Speculation2.
Cogitation3.
Rumination4.
Disregard5.

Que. 159 According to passage what is used for designing AI algorithms to make decisions?

Correct Option - 3

Knowledge1.
Storage2.
Real-time data3.
Machine learning4.
None of the above.5.

Que. 160 What is the meaning of AI according to the passage?

Correct Option - 1

Machines that respond like humans and have the human-like capacity for contemplation, judgement and
intention

1.

Machines that store huge amount of data2.
Machines that let drivers know about upcoming congestion, potholes, highway construction and traffic.3.
Machines that have advanced algorithms, high processing speed and analyze material instantly.4.
None of the above5.

Que. 161 Vacuum Tubes were replaced by _______.

Transistors1.



Correct Option - 1

Integrated Circuits2.
VLSI or Microprocessors3.
Bio-chips4.
None of the above5.

Que. 162 How many layers are there in the TCP/IP protocol suite?

Correct Option - 1

51.
62.
73.
44.
35.

Que. 163 FTP stands for : 

Correct Option - 2

File transfer program1.
File transfer protocol2.
File transfer port3.
File transfer pin4.
None of these5.

Que. 164 Which browser is an inbuilt browser in windows?

Correct Option - 1

Internet explorer1.
Google chrome2.
Netscape3.
Firefox4.
None of the above5.

Que. 165 One of the following is not a social networking sites :

Correct Option - 2

Facebook1.
Notebook2.
Linkedin3.
Twitter4.
All of the above5.



Que. 166 A computer virus is a

Correct Option - 2

Hardware1.
Software2.
Bacteria3.
Freeware4.
spam5.

Que. 167 In MS Excel 2010, the shortcut key to apply or remove bold formatting is: 

Correct Option - 3

Ctrl+41.
Ctrl+32.
Ctrl+23.
Ctrl+54.
Ctrl +15.

Que. 168 Word processing, Spreadsheet, and Google Chrome are examples of________.

Correct Option - 1

Application Software1.
Operating system software2.
System Software3.
Device drivers4.
None of the above5.

Que. 169 Which of the following Shortcut key is used to insert a new Slide in MS PowerPoint?

Correct Option - 5

Ctrl + C1.
Ctrl + V2.
Ctrl + D3.
Ctrl + N4.
Ctrl + M5.

Que. 170 To delete any number of rows and columns in MS Excel, shortcut key is ______. 

Ctrl + -1.
Ctrl + X2.
Ctrl + Z3.
Ctrl + Shift + X4.



Correct Option - 1

Ctrl + V5.

Que. 171 In word you can force a page break ________.

Correct Option - 2

By positioning your cursor at the appropriate place and pressing the F1 key1.
By positioning your cursor at the appropriate place and pressing Ctrl + Enter2.
By using the Insert/section break3.
By changing the font size of your documents4.
None of these5.

Que. 172 Which command brings you to the first slide in your PowerPoint presentation?

Correct Option - 3

Next Slide button1.
PAGE UP2.
HOME3.
CTRL + END4.
Ctrl +F55.

Que. 173 Which of the following is used for the addition in MS Excel?

Correct Option - 3

ADD1.
ADD ALL2.
SUM3.
ADDITION4.
MIX 5.

Que. 174 Which among the following is NOT a search engine in the internet ?

Correct Option - 3

Archie1.
Google2.
Nexus3.
Microsoft Bing4.
Yahoo!5.

Que. 175 In MS - Excel, Insert Function are located on the _____.

Vertical scroll bar1.



Correct Option - 3

Horizontal scroll bar2.
Formula bar3.
Standard toolbar4.
None of the above5.

Que. 176 The 's' at the end of "https" stands for

Correct Option - 2

Standard1.
Secure2.
Simple3.
Storage4.
Security5.

Que. 177 What is the name of the list that stores the URLs of web pages and links visited in past few days?

Correct Option - 3

Link List1.
Page List2.
History List3.
None of the above4.
Both i and iii5.

Que. 178 A program, either talk numeric that is made available in digital format for automatic download over
the internet is called ______.

Correct Option - 4

vodcast1.
blog2.
prodcast3.
wiki4.
broadcast5.

Que. 179 Specialized programs that assist users in locating information on the Web are called

Information engines1.
Locator engines2.
Web browsers3.
Resource locators4.
Search Engine5.



Correct Option - 5

Que. 180 Which of the following search engine bots continuously send out that starts on a homepage of a server
and pursues all links stepwise?

Correct Option - 1

Spiders1.
Packets2.
Cookies3.
Paddle4.
None of these5.

Que. 181 Which among the following computer program is used to browse websites?

Correct Option - 4

MS- Word1.
FOXPRO2.
UNIX3.
Mozilla4.
None of the above5.

Que. 182 In MS - PPT, you can show the shortcut menu during the slide show by: _____.

Correct Option - 2

Clicking the shortcut button on the formatting toolbar1.
Right-clicking the current slide 2.
Clicking an icon on the current slide3.
None of the above 4.
All of the above5.

Que. 183 How can the slide show be repeated continuously in MS - PPT?

Correct Option - 1

loop continuously until ‘Esc’ 1.
repeat continuously 2.
loop more3.
One by one4.
None5.

Que. 184 The maximum Zoom percentage in Microsoft PowerPoint is ____.

100%1.



Correct Option - 3

200%2.
400%3.
500%4.
600%5.

Que. 185 Choose Fill in the blank.
Early computers used __________ and were large (sometimes room size) and were only found in

businesses, universities, or governments.

Correct Option - 4

transistors1.
hard discs2.
cardinal wires3.
vacuum tubes4.
None of the above5.

Que. 186 Fill the correct option. 
The first digital computer and what most people think of as a computer was called the _____

Correct Option - 3

COMPATE1.
MECHANIC2.
ENIAC3.
DIGITAL CALCULATOR4.
None of the above5.

Que. 187 Computers connected to a LAN can

Correct Option - 3

Run faster1.
Go on line2.
Share information and/or share peripheral equipment3.
E-mail4.
None of these5.

Que. 188 To communicate in a secured and well-defined manner with each other, computers make use of
______ over a network.

File Server1.
URL2.
Domain3.



Correct Option - 5

Website4.
Protocols5.

Que. 189 Which of the following is NOT an accessories tool in a window 7 system?

Correct Option - 4

Paint1.
Wordpad2.
Notepad3.
MS SQL Server4.
Snipping Tool 5.

Que. 190 Which of the following committees guides the progression of the TCP/IP suite and the Internet?

Correct Option - 2

IETF1.
IAB2.
ITC3.
IRTF4.
None of these 5.

Que. 191 Which of the following term is used for Illegal copying and distribution of software?

Correct Option - 4

Software Copying1.
Software Phishing2.
Digital Piracy3.
Software piracy4.
None of the above5.

Que. 192 Windows explorer is a program used to:

Correct Option - 2

Browse the internet1.
Navigate the files or folders in windows operating system2.
Discover the number of windows running in PC3.
Calculate how many application is running4.
All of the above5.

Que. 193



______ is a small, portable flash memory card that plugs into a computer’s USB port and functions as a portable
hard drive.

Correct Option - 2

CD-ROM1.
 Flash drive2.
DVD-ROM3.
 CD-RW4.
All of these5.

Que. 194 What kind of memory is both static and non volatile?

Correct Option - 4

BIOS1.
CACHE2.
RAM3.
ROM4.
All of the above5.

Que. 195 The ability to read or write each piece of information in a storage device in approximately the same
length of time regardless of its location is _______.

Correct Option - 2

Sequential Access1.
Random Access2.
Raster scan3.
Search4.
None of these5.

Que. 196 If a disk drive fails but the computer application running and using it can continue processing this
application is said to have been designed with this feature.

Correct Option - 2

100 percent uptime1.
Fault tolerance2.
High reliability3.
All of the above4.
None of these5.

Que. 197 Protecting data by copying it from the original source to a diifferent destination is called

Formatting1.
Hacking2.



Correct Option - 3

Backup3.
Data diddling4.
None of these5.

Que. 198 In which year was Internet Explorer first released?

Correct Option - 3

19901.
19932.
19953.
19984.
19975.

Que. 199  Which of the following uses a unique eight-bit binary code for each number and alphabetic character
as well as punctuation marks and accented letters and non-alphabetic characters?

Correct Option - 4

Scan code1.
Unicode2.
ASCII3.
EBCDIC4.
Both 1 and 25.

Que. 200 Which among the following software is not a product of Microsoft?

Correct Option - 1

Open office1.
Outlook2.
Access3.
Visual studio express4.
Windows5.
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